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4.3 Solve William Byrd

Gradualia (1610)Treble
Tr T B

l & C î h l q q h l q q h l q q h l
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w l · l w l w l H h l

l &
10 w l w l w l î h l q q h l

15 q q h l q # Ï Ï h l w l q Q H l

l & H H l
20 h h l q q h l h h l h h l q q h l
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l & _h . q l h h l
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q q h l q # Ï Ï h l w l 2 l
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h . q l H h l q Ï Ï H l

l & Q Ï Ï H l Q _h q l
40

h h l _q Ï Ï h l h q Ï Ï l h . Ï Ï l w l
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4.3 Solve William Byrd

Gradualia (1610)Tenor
Tr T B
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4.3 Solve William Byrd

Gradualia (1610)Tenor
Tr T B
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4.3 Solve William Byrd

Gradualia (1610)Bass
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